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It became overheated in the mountain; he is exempt — 91D 9772 FTAMNT

Overview

The 71wn ruled that if one rented a donkey for travel in a valley, but he travelled
instead on a mountain, and the donkey became overheated and died; the renter is
7wd. Our MdOIN resolves this ruling with other seemingly contradictory rulings.

nooIN asks:
- 1951 9N 19YD) YV INTINM (x,an 91 TV 9INRT ]N):b AND ON)

And if you will say; according to the one who previously maintained that if at
the beginning (before the actual damage) he was negligent, but at the end (when
the damage occurred), it was accidental, the rule is that he is liable; according to this
7" -

- IPYMN PIYY 7PN DYWL INTINN NN NV ININ
Why is he =95 in our case, for initially (when he led her up the mountain) he was

negligent regarding slipping (for the 77n is more likely to slip on the mountain than in the
valley), so even though the actual death was an o1 (for it would have surely died in the valley
on account of the heat), nevertheless he should be 2»r since this is a case of 19101 7v°wW2 N NN
01X2, why does our 71wn rule that he is Mws?!

DD answers:
- DIND 21a 197 NYYW AWAN MIUN 190 KY ONY MTNY WY DIND NIN 2901 N7 9199 U

And one can say that 01182 1107 7Y°Wwo2 IN?°1N is not always 21 (even according
to that 7"n), unless it was an 218 that one can assume that if initially he would
not have changed what was expected (the 7y°w52 \n°nn), it is possible that the

o1 would have never occurred -
- 4119’\0&11 INN Na OINT 3’J:H1N‘T NOINT NI D

Like that case of 513787 8293, where the 2138 came about because of the 7y ws -
- ©%333) 150 NY “INNIYT ¥PDN NND DYI8N NN ONY

Where if he would have hidden the money underground, as »X»w ruled, they
would not have been stolen; the 73°w» contributed to the 1K -

! See footnote # 3 & 4, for an explanation.
% Others amend this to read X2 (instead of 112).
3 The case of *12187 XD™MX (a hut made of willow branches) is where someone entrusted his friend with money, and
the custodian placed it in a "1271X7 X5"7% (where he felt certain that it would not be stolen from there, since people do
not usually put money in a *127IX7 &9°7%¥). The money however was stolen.
* He was v by putting the money in the 127x7 X5"1%, for it can easily catch on fire (and the money will be burnt).
> Hxmw maintains (there) that the only proper protection for money is by placing it underground.
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- AMA MDY NYPAA 9N NP NPY RKY BNT 19V Y5 9N NN * XaN Yax
However here; where she became overheated in the mountain, so if he would
not have changed, and he would lead her in the valley, she certainly would

have become overheated. The 7v°w»d did not contribute at all to the d1IX, in such a case all
agree that he is Mo,

moon offers support for his answer:
= DIND NN N2 YYD 22) (39 978 PPONNHA NI 99N 9M)

And this is also what 829 stated in 7>5pp177 2795 regarding the case where the 1w
was negligent with the cow (he did not watch it properly®), and the cow went to a

meadow and it died there (this is ©13%2 1910), so &2 ruled -
= QNN Y NN NIN Y NN MNN INDNT IV XN 29N 9INRT INNY 1PN

Even according to the one who maintains 011X2 19901 7v°woa N> nn is 29m,
nevertheless here he is =15, because there is no difference to the nwam Jxb»

whether she is here (in her corral) or there (in the oiX); her dying had nothing to do
with where she was; she would have died anywhere. We see from X217 that 19101 7¥°w92 1NN
211 01X32, only where the 7v°wd contributes to the damage 01X31; otherwise he is Mwo.

nooIn asks:
= 9599 N2 197Y NN 23) OxDnnnn M1 OWY 3,38 97 0P BTN 1NYIY IND ON)

And if you will say; in the end of a%¥m nX "0Wi pao, the Rn™a states

regarding a case where the shepherd left his flock and came into the city -
- T5WIN S9Y N9 NITIVA Syt N9 Y 2999 909 U7 YIN NI

And a lion came and Killed the sheep, the shepherd is exempt from paying, and
N29 established the Xn»921 [even] in a case where the ¥ entered the city in a

time where shepherds usually do not enter the city, and nevertheless he is Mu» -
- 5N PIYY NIN DIIND 199D P93 12ayY APIWAA INTINT AN 72999

So »ax challenged X211, this is a case where m¥°@52 1910 regarding thieves, and

o1R2 1218 regarding the lion so why is he Mo (according to the 7" that 19101 AY°w2 N7°1N

o132 is 2»17)? This concludes the citation from the X723 there. Md0IN continues with his question -
- 71599 5N DIND PINI 7PN PYY KA XY NN YWD NY 199N DN

But there, even if he was not negligent and did not come into the city, the o118

® This is 7w°wo2 1n2°nn for it could have been stolen.
7 [See the X3 there why X217 found it necessary to establish the Xn>>72 in this manner.]
¥ He left his flock alone where he should have been with them; they could have been stolen!
? Moo maintains that 2°0 02 IOY 7Y°Wo2 NN only if the 7v°wo contributed in some measure to the oK, but
here the 011X of the lion would happen even if the W remained with his flock. He cannot fend off a lion!
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from the lion would occur regardless, so what is the challenge from »2x?!

mooIn responds:
= 9NR NN ONP NN NYINY 19991 NN DY NN ONX RNDYT 9D YN

And one can say; that perhaps if he was there with his flock, he may have led

them to a different pasture before the lion came -
= 9NN NTYA 0N I8N T NTWA DN I8N MYID DIMIN 79719 %5

For this is the manner of shepherds, to graze half a day in this field and half a

day in another field, therefore his leaving was contributory negligence -
- OV NaY N9? 190 29NN OY 190 ON NNV IN

Or perhaps if he was there, the lion would be afraid to come there (since

sometimes lions do not wish to confront humans) -
- 10‘[‘1:9 119D 25110 HNY YIND NN O) N2 01PN NPHIN

Or perhaps the verse of ‘your servant smote even the lion and the bear’ would
have been fulfilled by him. mson is suggesting that by leaving, the W contributed to the oK.

mooIn offers support for his answers:
- 9581 19N BY N51 1PN DIIMIN PN TINDT 79 0NN LWON WY 7598 991 XYY

And even without this, it is necessary to explain the meaning of the Xn»"2 there
in this manner (that the shepherd, by remaining, could have saved the sheep), for
the Xn» 12 states regarding this 7317, ‘we do not say, ‘if he was there he would

have saved the flock’ (meaning that we should automatically assume that, and therefore the
v is 270) -
- Bann 12aya w995 9WAN IN) 9109 INY ON) 290 SI8NY 195 790 ON CBIIIN NIN

But rather we evaluate the situation; if the shepherd was able to save the flock,
he is liable, and if not he is m9w2’. This concludes the X072, and N®OIN continues,

1% mpoin is citing a P09 in (12,1 'k YXMW) regarding Ton71 717 who smote a lion and a bear. Moo is suggesting that
perhaps this shepherd would show the same courage and strength to kill or drive away the lion, had he remained.
' We have to maintain that there is a possibility that the lion would not have killed the sheep if the 7v11 would have
remained, even without the question that we asked on moIn assertion that 0112 1YY VWA NP NN is 21 only if
there is contributory negligence to the 01. This explanation is necessary in order to understand the Xn»172 itself.
'2 The n"21 N amends this to read, DX TTAI X9X (instead of DX DR K9X).
" mooin, in the question assumed that it is impossible to save the flock. In his answer Mmoo assumes that it is
possible to save the flock. If we assume the latter (that the 7¥17 could have saved the flock), the X092 is understood;
we do not say, ‘he is always 211, for if he would have been there, the flock would be saved’, but rather we evaluate
the situation. However according to the X"y (that he could not save the flock), how can the Xn»12 state (even as a
X"¥7) that we do not say, ‘if he was there he would have saved the flock and he should be 2>°11°; how can there even
be such a X" 7 if we assume that it is impossible to save the flock. Therefore we are forced to learn that there is some
possibility to save the flock, but nevertheless he is not always 2°°17, unless we estimate that in this situation he could
have saved the flock.
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and it is impossible to explain the Xn»72 in another manner except to say that the
7v17 had the possibility of saving the flock.

mooIn presents an alternate answer to his previous question:14
- (ow1 35 91 ey CIIPONN P92 AINT NINYVY ANT ONN YD DAYN 29

And the 7''>9 explained there that »ax follows his own opinion, which he

stated in TopD%R POD -
- 18505 NPINT XDANT 2990 NID 9909 9ANT JNPY 199N RIN 1919 NIW2N NY

‘There is no question, etc. that according to the 2°°17 D12 1901 7Y*WH2 IN°IN 77,
that here (by 23X niX¥°) he is surely 2°17 (since it is X"20192n), but even according
to the 7''» that X"20w2n is 7wy, nevertheless here (by 0aX? nxky*) he is 2%, for

the air of the meadow Kkilled her’; it is not onx2 10, but rather nv>woa 190. This

concludes the citation of the previous X 13 -
= NPV NN INDA 999V SNN 29N 9INT INIDT yHIUn

It seems (to the 7"°7) that according to the 2%mr X"10192n 7''n, it is properly

understood why he is 211 even without this reason of 75vp xmx7 X927 -
- 71939 993 YN 79N DINNY 99 Y 9N

Even though the o138 would have occurred in any event.

mMooIN negates this view:
= NRYL INAN 72D 993 2990 N7 INIDT NN MINTH U

And it is possible to reject his proof; for even according to the X"20192n 7''»

2%, in order to be 211 here, he too, depends on this reason -
- Ba50p NNINT X92NT 902 NPT

Of r>up R»RT 8927 which »2xX mentioned at the end of his statement, but otherwise

he would not be 2°11 even though he maintains 217 X"20192n -
= VD N3 NNMN MMINRPT XINT PNINNN NYY VPN )5 XY ONY

For if this is not so (but rather X"2012n is always 21), there will be a difficulty

' What is s"ax question on X237, since there is no contributory negligence.
' This is in regard to the case of N1 QXY XY™ 712 YWD mentioned earlier in this Mo where X271 maintain that he
1S 7YY, but »°2R maintains that he is 2»m.
' It was because he was negligent, so she went to the 03X and the (foul) air there killed her.
' The 7" assumes according to X that the reason of 770p X»3XT X227 is necessary for him to be 21 only if we
maintain X"201920 is 7D, however according to the 217 X"20192n 7"», there is no need for this reason, for even if we
do not maintain 77up X13R7 8227, he is still 217 since it was 7v°w2 \n2°nn. This explains why »ax said X°v27 X2, We
can therefore conclude that according to ™ there is no need for contributory negligence according to the 7"n
21 X"20192n. We now understand why »ax asked the question on &2 (in 271977 NX 72W7), since (according to »aR)
if it is X"20192n he is always 277, regardless whether there was contributory negligence or not.
' See “Thinking it over’.
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from our /mwn here, which states if it became overheated in the mountain he is

AW, however according to ™K that X"20192n is always 2°°11, why should he be 7105 in the case
of 772 7M.

n1doIN concludes:
1999 SN NPV ANYINN YN XY X941 791025 wA93w NnY 17

However according to what we will eventually explain that here (by 772 7M7)

it is not considered m¥>ws2 nYonn, everything will be properly understood (there
will no question on the r]"’1)20 .

Summary
DIIN 1101 Y WHA NP NN is 21 (according to that 7"n), only if the 7v°ws contributed

somewhat to the o1IR.

Thinking it over
mpoIN writes that even according to the 211 X"20192n0 7"n, we still need to assume

(even according to »ax) that he is 2”1 only because obp Xnax7 X227.>' How then
can we explain the expression of X°¥v2'n 82,”> why is he more 2°n if we maintain
211 X"20192N, than if we maintains 719 X"210192N, since the only reason he is 217 is
because of the xmxT 8927121

1% See *0v *21 71"7 '01n at the very end (on the ‘2 TmY).
0 Alternately, 20 initial question (in the beginning of '01n) has no place, since here it is not 7°w92 N?°N.
2! See footnote # 16.
2 See footnote # 15.
3 See TN WIDN XN # 74.
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